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Note:Answer all parts from Section ‘B’ and all quesllnns from Section-C on the E-sheet.
Write your answers on the allolieg : \ace

Q.2: Attempt all park
%ﬂ& ' :

al marks, (11x3=33)

% Why |

Is rolling friction

vertical and horizontal positions? Why it is so?
. PUETITE . 9 SHYTRDR Y

Wl'hat will be the net torque in the situation if two children are sitting en the
see-saw such that they cannot awlng‘?

Communication satellites appear to be atatlnnar}' with respect to earth. Why?
= Sauibyjs (% OR 126 =

‘What do you mean by grawllntlonal field strength? Does it vary from place to
place? Write its value near thﬂ surface of earth.

f—y What is the difference beh}.rban states of equilibium in case of pencil in
vii
&

~viii. 7" At what altitude the vaiue nt u would become on

1at altitude the valu @ ninth of its value on tho
surface of earth? =~ . _
OrR |



Calculate number of hectograms in one ton of steel? (1ton=1000kg)

i%‘ﬁhy a small needle sinks in water and huge ships travels easily in water
without sinking? OR

Draw a block diagram to briefly explain how fossil fuels are used to produce
electrical energy?

\ZE/I To what height cg

ith a velocity of

W!ate a

State Pascal's

(1+2+2)

vith the heip of

diagram. (e
{lyﬂ* t*z'dg of mass 10kg at rest is ; perorce of 16N, Fing the sinelic enig:
the end of 10s, o)
OR |
a. Draw speed-time graphs for object moving with constant and uniformily :"J"af':;’g
Y
speed. :

b. How can the slopes of these graphs be determined?
c. ‘What information do these two graphs f:rnvlcta?

Formulae: s
Momentum= mv w=m g gh =G Mo/(R + h]"’ P-‘E mg T —
P =W F=ma T=Wxd KE=¥ mv V.=y5
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